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VI Semester B.A./B.Sc. Examination, September 2020
(CBCS F+R -2016-17 and Onwards)
ECONOMICS (Paper - VII)

Economics of Human Resource Management

Time : 3 Hours Max. Marks : 100

Instructions : 1) Answer should be written completely in Kannada
or English.

2) Answer of Part — A should be continuous. Answer
should be precise.

PART - A
(Conceptual)

39N cInYT3e 10 TJNorR 2 — 3 INLY wuBoR. B3 DI 2 e0sned.,

Answer any 10 of the following in 2 - 3 sentences each. Each question
carries 2 marks. (10x2=20)

1. a) IS ROBIRE adréﬁcﬁaag .
Define Human Resource Management.
b) oxpeer rbsadaé.esd QR BBOD 4 @itaﬁ%faoq PN
State four features of Total Quality Management.
C) F& DH[TROD BBF e,
Give the meaning of job description.

d) Je0TS0D TF SPA.
State the meaning of Recruitment.

6) ToranRDBOD CIPTFEEAR SO FoserRNIR) S04
State any two benefits of Induction.

f) BreS7® QoBded ?
What is Bonus ?

P.T.O.
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g) FSTC STwIeS0D LT ek,
Give the meaning of Internship Training.

h) 28 S SoeTed TRV [T 3R,
Distinguish between promotion and training.

i) VOB I3 au’c:éé Q0TBED 9
What is time wage system ?

j) ‘edEons Jadnens 3 PSR, Ve,
Give the meaning of ‘Fringe Benefits’.

k) ‘S0 33 cdeess ob S8R Fodpensnva) $98.
State two benefits of ‘Man Power Planning’.

) 3’:3:’:5 DEBT DOTITERD ?

What is ‘Minimum Wages’ ?

PART - B
(Analytical)

IMMMWMNMW%ﬁg&a

3UNS IR 4 BIREr 15 — 20 YNV, euZon. B FIRS5 oD,

Answer any four of the following in 15 — 20 sentences each. Each question

carries 5 marks.

2. I3 :u’oas’ﬁf%o VB BB ajoiraeuﬁﬁ@ag QWOR.
Explain the benefits of Human Resource Management.

3. wdod a%dmﬁéd ROLIOTLINTRD DTOR.
® o R

Explain the characteristics of a Good Manager.

4. BB BoBIRY 03RezH030 FR0D T5e03Re3BrTR) 8P

~ State the important objectives of Human Resource Planning.

5. RoTBF I3 TR0NIDI) DBTHRR.
Enumerate the importance of Interview.

(4x5=20)
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6.

4,

3oe3esady @d}%ﬁ@?ﬁ%@@ ? DTOR.
What are the need for training ? Explain.

OoRons ago&raeuaimfm B0 OO €338 S0,

~ Write a short note on Fringe Benefits.

PART -C
(Descriptive)

BSNS QRT3 4 Séﬁ@ﬁ 4 Ynsd oeBmod B0, J& aj%ﬁ 15 eosnsd.

Answer any 4 of the following not exceeding 4 pages each. Each question
carries 15 marks. (4%x15=60)

8.

10.

11.

12.

13.

VPRI a’owdrgm ezp%&%od) BOODFNFRY DBOR.

Explain the functions of Human Resource Development.
38 DFeRToDH @’o&meuaﬁﬁdgtaaﬁaﬁo.

Explain the benefits of Job Analysis.

$0330D FocdhF @mﬁﬁ#&g{ 208D,
Examine the selection procedure.

VTIR NN B0t ERT3ned mcgozo’oo FOTEINEIR)) ? DROR.
What are the causes of Employees Grievances ? Explain.

YU SMOFBEBOL DES0TD wWHRROBTI 03N 9 133F 2.
What are the contents of good transfer policy ? Discuss.

5o00F 83 RTFZ R BBRETE FowoRRE0S BrmERyiwos BRI DBBHAR.
Enumeréte the measures to be taken in relation to safety and health of the

workers.

——
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VI Semester B.A./B.Sc. Examination, September 2020
(CBCS) (F + R)
(2016 — 17 and Onwards)
ECONOMICS (Paper — VIII)
Statistics for Economists (Optional)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Answer must be completely written either in Kannada or
English.
2) Answer should be precise.
3) Answer of Part — A should be continuous.

PART - A

C3RR)TT3H 10 mﬁ@j&iﬁ@ﬁ cm_spa?o. 23030000 gé‘iﬁ 2 ©303N%0.
Answer any 10 subquestions. Each question carries 2 marks. (10x2=20)
1. a) TFPT T3NS mra@rf@:bd BIOR.

Mention sources of primary data.

b) Rouse &@ ordesd ? F9NT SRS FOLSS G738 FOTOBROND.
What is cumulatlve frequency &, Calculate cumulative frequency for the

following data.
e:sdé(Frequency)' 8 12 15 18 10 4 2

C) 39N BEoINN S FH TR BOTBIGEOD.
Find median wage for the following data.
3nO(Wage): 65 60 45 50 55 70 80 75 40

d) Q, =4, Q, = 13, 5T3 BFF3 NBVF0D MIFTIOF FOEEBOD.
Q, = 4, Q, = 13, find coefficient of quartile deviation.

e) 3N B o3NYR MT 033 ©TT NIFEI0T FOTIRBOWD.
Calculate range and its coefficient for the following data.
X:10 15 12 8 6 18 20

f) 3N Te0BNER ¢50BMESB RTDAD BOTICEBOND.
Find Arithmetic mean for the following data.
X:14 21 25 43 51 40 39 12

g) RBIOLOT DOTSED ? T O3RN WOTHE, REITINTIZE 7
What is correlation ? When it is equal to unity ?

P.T.O.
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h) "s0adg erdod TOGRTINTRO BROX.
Mention components of time series.
i) [TOR0 ABOT 0TI ?
What is mean deviation ?
) $ROTTTT Rt 03[R, BHTF 13 R1225, 083050 "c:ﬁom?é#w D
Why Fisher index number is considered as ideal index numbe
K) ecsness 3oom0 X = 32.6 30%) 53 M = 34.2 €0 20598 Z BomEBOA0.
If Arithmetic mean X = 32.6 and median M = 34.2, calculate mode Z.

) SRF TIOR D0TTed ?
What is Null Hypothesis ?

Oto BR&.
r ? Give reasons.

PART -B

CIRYTHTR 4 FIRr euBoR. Fodeomd FIFH5 oI

Answer any 4 of the following. Each question carries 5 marks. (4x5=20)

2. 3INT TNHER O FLONT R T8 RBROLIOG NOT0T FOTWILE 0.

Calculate Karl Pearsons coefficient of correlation for the following information.

Price (¥3d) X 3| 6| 9| 12| 15| 18| 21
Demand (Be&8) Y | 25| 19| 14| 11| 10| 12| 7

3. YN Fpreor 08 3 erd0ld THOINTR ATOTH FTIRO FOTOZBRONID.
Calculate Harmonic mean for the following data of discrete series.
Weight (3x3) 30| 35| 40| 45| 48| 50| 55 60

No. of Students
(DT, RN "osB)

3| 46| 6| 5| 2| 1| 1

4. TIND TIY0BNPR WROFE FoBOHE00.
Calculate mode for the following data.

Cl (=meso=d) | 0-10 |10-20]20-30 30-40(40-50|50-60| 60— 70
f(=323) 15 32 86 164 28 10 6

5. FPNT D& TORT ATIRO AIO0T 32 NDBOT ForRLECVO

Calculate standard deviation for T .
o thod. the followmg information by assumed mean

Income (¢m0%) : 240 290 245 255 2gg 7o 268 277 251
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6. 39N T30 2018589 20F wosRY rest InaT BRBFOR) FIBRRITE. AT00T
%) Beamas Busro,

Draw a Pie chart to represent the following data of investment pattern during
the year 2018.

Investment )
Pattern Agriculture | Transport | Industry | Education | Others
(Sras oeg) TR atelt 3rwod 52 933

Amount invested

(X crores) 300 150 200 50 100
T BARE R %Jacésﬁ#Q)

7. ABI0WT B &03OFOI DBV ?3@57355.3{ D@OR.
Explain the difference between correlation and regression.

PART -C

FTBNT 0INR)TTH3R 4 @"{ﬁ@ﬁ YUBOR. T,03ROTD @éj 15 e03ned.
Answer any 4 of the following. Each question carries 15 marks. (4%x15=60)

8. IINT TR&SAIN A 08 B aeytd 1,5 80 Tisd QDG BRF NYE [RRTIE SINOR
ROLORAT. [WOOT 03N LREFTIN® TR NTFoRA, 550, ATE T2 08NBRORTNT o=
OTIDED 23T 5087 SVZE30 TRINTR, NPATRT DOLVTR, FOWIREROD.

The following information is related to runs scored by two Batsman A and B in
different matches. Calculate who is more consistent and who is better run getter.

o 28 [17 |63 | 71 | 39 | 10 | 60 | 96 | 14
TN - A oe

Batsman-B | 1o | a1 |48 |53 |67 | 90 | 10 |62 | 40 | 80
Wzt son’ — B

9. 39N BoINVR X3 Boedd Y 3083 Y8 3065 XS 30030R03 RR0eFTane), 0esk.
Consiruct regression equations of X on Y and Y on X for the following data.

X | 6| 9|12 5| 8 | 14

vy | 5|20 |15 12| 9 | 11

eI
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10. 39N degoéﬁe:)ﬁ E90BNESS ROORD, asgcgsg meg LITBOYT ToBIEOAD.
Calculate mean, median and mode for the following data.

Cl |10-15|15-20|20-25|25-30(30-35|35-40
f 14 20 35 15 10 6

11. 39NI Sn&er 20223331 BT SFQTD 0 BT, FNE DD TORO0T £90TI% WA,
Estimate the trend value upto 2022 by least square method for the following data.

Year (S=F) | 2013 | 2014 | 2015| 2016 | 2017 | 2018 | 2019 | 2020

Production

24 28 32
(eosa8) 18 20 22 26 30

12. NI 233 Roam ) B,eEdM WBI0HF T NIV 308 T3 NMOF0T FOTIEOD.

Calculate quartile deviation and coefﬂment of quartile deviation for the following
continuous series.

Wage (s»®) |100 -200{200 — 300|300 — 400 [ 400 — 500 | 500 — 600 | 600 — 700 {700 — 800

No. of Workers

5 3 7 5 10 3
(sor 88 Rost) 2

13. NI SnWER U%z):o:btj‘, méﬁ; 208 QRO TRT 2363 zimséoé doé_oo REIVED mw%oéﬁeiﬁa
BFOTBIGEB 00, "

For the following data calculate Laspeyer, Paasche and Fisher price index
number and quantity index number.

2018 2020
Items P, q, P, Kl a,
A 20 08 30 ?
B 50 10 40 8
C 40 05 50 ?
D 60 20 60 \16\
E 10 06 40 10
F 1 50 3 40
- 1




